ELECTROMAGNETICS I FIRST MIDTERM EXAM

Dr. Salih FADIL July 15, 2011
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#1) Consider the vector function 4=3x°y’a —x’ yzﬁ_,_; Calculate q A-dl around the
" /

triangular loop that is shown in the figure.
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#2) A ficld 1s expressed in spherical coordinates by £ =-—ad .

-
a) Find |E] and E_at the point P(-3,4, —5).

b) Find the angle that £ makes with the vector 5 = 2a, —2a, +d, at point 2.

#3) Given the vector field H = pz cosga, +e Sirl—zwf.f@rr + p’a_. Atpoint P(1, z /3, 0) find:

a) Hxa,
b) the vector component of A normal to surface p=1.

¢) The scalar component of / tangential to the planez =0 .
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